Worksheet

2/14/19

Name: Grade:

D

Calculate the result.

a) 318 + 80 b) 312 + 40 ¢) 624 + 20

2)
Calculate the result by splitting the second number. Fill in the missing numbers.
) 6249 62— bo+s 9 T
3)
Calculate the result.
a)8-3+4-3= b)7-7—3-3= c)6-9—-7-7T=
4)
Calculate the results.
a) 1194 31 = b) 822 + 46 =
119 + 41 = 822 + 56 =
119451 = 822 + 66 =
5)
Calculate the result.
6 8 6 9 1 8 6
a) + 2 4 4 b) + 5 3 c) + 6 4 2
6)
Fill in the missing numbers.
7 0 1 4 0 4
) + b) + 1 1 3 ) + 4
5 8 6 8 1 8 6

Good Luck!
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